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QUESTION 1

How do you enable parallelism in a dynamic SQL statement? 

A. BIND with DEGREE(1) 

B. BIND with DEGREE(ANY) 

C. Use SET CURRENT DEGREE = ANY 

D. Use SET CURRENT DEGREE = \\'1\\' 

Correct Answer: C 

 

QUESTION 2

Which statement applies to the command STOP DB(MYDB*) SP(*) AT(COMMIT)? 

A. Does not apply to threads that were defined with RELEASE(COMMIT). 

B. Does not apply to threads that were defined with RELEASE(DEALLOCATE). 

C. Applies to both RELEASE(COMMIT) and RELEASE(DEALLOCATE) at the next COMMIT point. 

D. Applies to RELEASE(COMMIT) at the next COMMIT point and to RELEASE(DEALLOCATE) at thread end. 

Correct Answer: C 

 

QUESTION 3

When DB2 detects at runtime requiring a large amount of data to be read, which prefetch method is used more often? 

A. List prefetch 

B. Dynamic prefetch 

C. Sequential prefetch 

D. Skip sequential prefetch 

Correct Answer: B 

 

QUESTION 4

Which authority level allows a user to run utilities that change the data in an application database? 

A. DBCTRL 

B. SYSOPR 
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C. DBMAINT 

D. INSTALL SYSOPR 

Correct Answer: A 

 

QUESTION 5

Click on the exhibit to view properly coded XML data. Some employees have been assigned assistants. Which two are
the leanest, most efficient XML indexes to get both the names and phone numbers of employees who are not
assistants? 

A. CREATE INDEX empname1 ON dept(info) GENERATE KEY USING XMLPATTERN \\'//name\\' as sql varchar(20);
CREATE INDEX empphone1 ON dept(info) GENERATE KEY USING XMLPATTERN \\'//phone\\' as sql varchar(20); 

B. CREATE INDEX empname1 ON dept(info) GENERATE KEY USING XMLPATTERN \\'//name\\' as sql varchar(20);
CREATE INDEX empphone1 ON dept(info) GENERATE KEY USING XMLPATTERN \\'/deptinfo/phone\\' as sql
varchar(20); 

C. CREATE INDEX empname1 ON dept(info) GENERATE KEY USING XMLPATTERN \\'/deptinfo/name\\' as sql
varchar(20); CREATE INDEX empphone1 ON dept(info) 

GENERATE KEY USING XMLPATTERN \\'//phone\\' as sql varchar(20); 

D. CREATE INDEX empname1 ON dept(info) GENERATE KEY USING XMLPATTERN \\'/deptinfo/employee/name\\' as
sql varchar(20); CREATE INDEX empphone1 ON dept(info) GENERATE KEY USING XMLPATTERN
\\'/deptinfo/employee/phone\\' as sql varchar(20); 

Correct Answer: D 
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